Add fractions

Add 2 or more fractions

Subtract fractions

Subtract 2 fractions
Subtract from whole amounts
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1/4 of 60

1/4 of 100 -

1/4 of 200

1/4 of 8O Have you would you work out 1/3 of 607?
1/4 of 1000
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How wouldl we add 3 fractions?
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How would you write this as a cal

culat

[lon?

Write the calculation to match this fraction model and calculate

the answer.

Remember there are 3 different colour which show 3 different fractions.




Write the calculation to match this fraction model and calculate
the answer.




Explain the mistake that has been made.




Explain the mistake that has been made.

The answer should be % not % . They have only added

2 of the fractions, instead of all 3.
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‘ ‘ ‘ Write the calculations to match these fraction models and calculate the answer.

1+ 5+ 118

4 4 40
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Use the models to add the fractions:
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Choose your preferred model to add:
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Mo and Teddy are solving:
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The answer is 1 and =
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The answer is =
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Who do you agree with?

Explain why.
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Mo and Teddy are solving:
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The answer is 1 and =
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The answer is =

Who do you agree with?

Explain why.
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